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Diagram not drawn to scale

Find the size of each of the angles w, x, y and z.
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2. (a) You will be assessed on the quality of your written communication in this part of the
question.

Enzo is given clues to help him solve a problem.

Clues:

. The shape is a polygon

. The shape has an odd number of sides

- The shape is not a triangle

- The shape has fewer than 7 sides

. Three of the interior angles each measure 106°

. All the other angles are marked with the letter x

Solve Enzo’s problem to find the size of x.

..........................................................................................................
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(b)
Ty +32
Diagram not drawn to scale
All of the angles are measured in degrees.
Find the size of each of the three angles.
............................................ 7j+02+3~1“5€‘+5)’¢~’g@
(8o + T2 = IS0
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3. (a) On the grid below, draw an enlargement of the triangle using gscale factor of 2 zipd
genitee O, 4
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clockwie
com g Diagram not drawn to scale

The above diagram&ows three points P, R and T which lie on a straight line.

The bearing of T from R is 035°.

Calculate the bearing of P from R.
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4. (a) Expand y(y*+6).

" :
............................ =4 +C*L)
(b) Solve §+ 54 =63
3 I 2 {2 S X S —————
...................................... ¢ = A8 mNBL
......................................... o I =~ 3 RISt SO ol Mo S SOUROO——"
.............................................................................................................................................................................................. [2]
(¢) Solve 36‘;)6 =10
sk A, Slemr =MD e s
I - | =1 |2« e < TN S
RO, SRS — - B E el S s AR
(d) Factorise 2x* — 4x. “
2x (x-2
.................................................................................................................... . 2]
+4 46 4, [
SHHHII
(e) Write down the nth term of the sequence 3, 7, 11, 15, 19, ...
D ™ T SRR 0L
(2]
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5. (a) Freddy goes to buy a ticket for a concert.
A sign by the ticket office states “20% off all original ticket prices”.
Freddy comes away having paid a reduced price of £36.80 for his ticket.
What was the original price of Freddy’s ticket?
X x 0-8 = 36
........................................................ o -1 10 8 = - - B |
2 C/ IL/( N
3]
(b) Freddy is paid £x per hour.
How long, in minutes, will Freddy have to work for in order to earn £? Give your
answer in terms of x and y.
............................................. S -2 3 1 S S
bo
2o leng » ~ 49 = Yxbo
......................................................................... "0%0(}*‘"\2351
i [2]
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- 6. (a) Use the graph paper to find the coordinates of the point of intersection of the curve
y = x? and the line x + y = § in the first quadrant.

Ty

4 } ESeciiSaas
2 i
b | S
0 1 2 3 4

(b)  State whether or not it is possible to find a point of intersection of the following straight
lines. Show how you have made your decision and give a reason for your answer.

y=3x+4 and 9x-3y=13

10
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Sasha works for a garden centre.
In any given week the probability that she works outdoors is 0-7.
The probability that she works during a weekend is 0-2.
Working outdoors and working weekends are independent events.
(a) Complete the following tree diagram.
Works
Works during a
outdoors weekend
Yes
Yes
No
Yes
No
No
2]
(b) Calculate the probability that next weekend Sasha will work outdoors.
............................................................... S B e e ———
.......................................................... = =R Y R S SR ———
2]
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8. (a) The total mass of tomatoes, in kg, produced by each of 200 plants in a greenhouse was

measured.
The table shows the grouped frequency distribution for the total mass of tomatoes on
each of these 200 plants.

Mass, x kg 0<x<5 | 5<x<10|10<x< 15 1§y 2 20 | 20=x & 23 _I
Frequency 6 20 70 88 16 .
(i) On the graph paper below, draw a frequency diagram to show this data. —|

2]
Frequency —|

; *
] * SN NSRS T
100 +———1 5
| 4
80 | ]
60 = | s ! | L
40 &
20— p——t | L
eSSl panncons

0 : 5 } | _|
0 S 10 15 20 25 Mass, in kg _|
(ii) State which class interval contains the median. _l
D . R N - kb - SRR —— _1

(1]
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(b)  The total mass of tomatoes produced by each of 60 plants in a different greenhouse was
measured. The following cumulative frequency graph illustrates the results.

Cumulative frequency

60

g
50 e
i &% _

40 /
30
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10
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0 5 10 15 20 25 b

(i) Complete the grouped frequency table of the total mass of tomatoes on each plant.

Mass, x kg ledsd | Sexgs W =g 15 |12 2| WeEx<E T3

Frequency 0 7 30 N &o

(1)  Use the cumulative frequency diagram shown above to find estimates for each of
the following.

The median.

‘30‘“\ H’z)\-kLt = | |3 )

S IR = 115 IS
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9. (a) Evaluateeach of the following. - sl la,w-f of i adices
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10. A cuboid with a volume of 912cm” has dimensions 4cm, (x + 2)cm and (x + 9)cm.
Write down an equation in terms of x.
Hence, solve the equation to find the dimensions of the cuboid.

¥ = e B %= =dd
................................................... e
..................................................................................... Xt =
¢ +9 = 19
............................................................................ ,({,X\?—xl"(m

VQ\ This is hae

jer shao Phe dimensia
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11. The coordinates of the point R are (4, b) where a > 5 and

The point T is the reflection of the point R in the line y = /7 9 - b

Find the coordinates of the point 7 in terms of aand b.

L
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12. (a) Find the value of (\/45 — /5)2.
—
e S A5 = 20eSUS
.............................. :SC‘ZJZAB"
L= 4 ) S
(b) Express 0-478 as a fraction.
.................. L:LHX
e O T e TR f ....... You..naed....ko...geb Fhe
........ 000X ZHINE e el Phe gomm
SUBTRACT o Se e o sublack
................ “chx—‘mg”lkHr\(jccmmje&chvﬂwf
...................... .
e
......................................................................................................................................................................................... [2]
Turn over.
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13. The points 4, B and C lie on the circumference of a c/i£cle.
The straight line PBT is a tangent to the circle and CBP = x, where x is measured in degrees.

 Mlemate
Segnmf“
c.;f\y }ej

- Samye

T

Diagram not drawn to scale

/\
Show, giving reasons in your answer, that the size of ABC in degrees is 90 — %x.

L
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14. The graph of y = 25 — x” has been drawn below.

(¢) Use the trapezium rule, with the ordinates x =0, x=1,x=2,x=3,x=4and x =5, to
estimate the area of the region bounded by the curve, the positive x-axis and the positive

y-axis. ‘r
.................................... Aea = O+@ +& HO +&
...................................................... = (35t ( + Cuba) x|+ (@21t 16)x ] + (1649

2 2 2

................................................. - ;)45%&&5—&—!85"}%5-%&_5
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